MATH246 Summer II
QUIZ 2

Name:

1. [4 pt] State the largest interval on which a solution to the given initial value problem is
~ -determined ‘by the conditions given

(2 ~ 1)y" +y = ¢ cos(z), y(2) = y'(@)=m
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2. [6 pt]

(a) Check that €37 and e** are solutions to w” — 7w’ + 12w = 0.

(b) Check that {e3,e**} is a fundamental set for this differential equation. Hint: We
only need to show that its Wronskian satisfies W[e3?, €4?] # 0, because we already
show that they are solutions to the equation.

(c) Use the method of superposition to find the solution W (z) of the differential equation
that satisfies W(0) = 0, W/(0) = 0. Hint: assume that W(z) = c;e3* + cpe?? and
" then use the initial data to find ¢; and cy.
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